QUESTION BOOKLET
A m-‘gﬁaﬁ Sr. No.

Series
Roll No. (in Figures) IeT . (371 H) :
Roll No. (in Words)ﬁﬁff. (@ H)

g 20 et udiern aferaw o ;85
Time : 2 Hours Screening Test Maximum Marks : 85

PLEASE READ THIS PAGE CAREFULLY. [Fuar 30 T = e uE |

Note: Candidate should remove the sticker seal and | stz . yearstt et = ToTees ST SIS0 UX &1 ST |ieT
open this Booklet ONLY after announcement by W ghifeem
centre superintendent and should thereafter check and = Eﬂ a5 :jr(ijj”r ?;Tﬁ? %T; aﬁgwq:gg

ensure that this Booklet contains all the 24’ page!
tally with the same Code No. given at top of fifst , Wﬁ?}"ﬁ mWﬁfﬁW o | 9t < e T
= 9 T G T8 SEA o |

& the bottom of each & every page. If you find
defect, variation, torn or unprinted page, pleasehav

replaced at once before you start ggswering. i . * T SR e | s
IMPORTANT INSTRUCTIONS R gﬁ% fer@mm S9eh 3T
1. The Answer sheet of a candi ﬁ@mﬁvﬁ ST B sge gder afony

write his Roll No., or writes a
on the title page of the Bookl
provided on the Answer sheet

evaluated nor his result declared p | . -

3. Attempt all questions as there will

Marking. | N A HEET T |
4. The questions are of objectivg ¢ IS an (B) SISt
example. Question : § Taj Maha 4 (D) TTESTET
(C) Akbar (D) ShahJahan (D) %:ﬁﬁwi8%ﬂmﬁﬁﬁﬁ@@§ﬁaﬁwé
The correct answer of this uestlon 1s Shah Jahan. N | St S .
You will therefore darken t en TRy ELGRL LR
below column (D) as s a I I Eg' B H
A B C
Q8 O OO0 e 5. ek 9 61 hefel Uoh HET ST € | A 30 U d e
5. Each question has only ontln(ﬁ&t ﬁsvd @ydut t W*\‘@Tﬁ# ST 3T SET oA e
give more than one answer, it will be considered ST |
wrong and it will not be evaluated. Changing, (FEEH, HeA, TART T a1 fe™ & 39¢ &1 o
cutting, overwriting and erasing of an answer T T

will be treated as wrong answer. g :
6. The space for rough work wherever provided may 6. <Tet et off T ) i # 3 2 < d ot e K

be utilized by the candidate. You are not to use any TR S freh % forell ot AT 1 T % ford
portion of the Answer Sheet for rough work. T A& FATE |

7. Do not mutilate this booklet in any manner. Serious | 7. T#! +f T ¥ GRTsh! i T T HY | THR €9 F T2/
damage/mutilation may entail disqualification. G GRS & SHROT ST ST Bt foar < war § |

8. Donotleave your seat until the Answer Sheets have | 8, s w1 =t & e 7 SIS 5o o SR-GRe=hT BT TieT
been fzollect(’id at the close of the e.><arr‘1ination. . T B TR 3ol Tl o ST |

9. Candidate will not leave the examination room till | ¢ gyt a5 g odter T T TR A AT = S e
stipulated time is over and only after he has e ' i
handed over the Answer Sheet to the staff on | T I T oA A T &1 AT ST A ST -
duty. TR TR H ST W S TE S S |

HITT O T R C-49 0k




Space For Rough Work / FHed B F [T ==

E
HPExams.In

Let's do it together !!

Code No. : C-490/2018/Series-A 2



QUESTION BOOKLET
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1.  Main cause of extinction of species from tropics is

(A) Afforestation(B) Deforestation(C) Pollution (D) Soil erosion
Ssrefeseia & § Tmfaat < it o g SR 2
(A) SR (B) IHRHE (C) Ugmu (D) HeT 3THe

A phylum common to unicellular animals and plants is

(A) Monera (B) Protista (C) Fungi (D) Plantae
Teh ShIvT IOl 1 aTedi ¥, Th M HE . .
(A) T (B) Wifewa (C) Fhe (D) A (wAeTE)

6. What would be the

If the diploid numb

wof a flowering plant_i

3 ek qeguT 9 <6 o | Toreslt <t g gt
(A) 18 ‘ (D) 72
Protein rich alga is

(A) Protosiphon
(C) Gelidium

TIH 99g a7 7

(A)

(C) Tfcatsam

The largest antherozoids are found in

(A) Cycas (B) - Cedrus (C) p hedra (D) Pinus
s s (F9 g o i

(A) TEFE B) ﬁ@" ST CT )

Which of the following is an unicellular sac—fungus ?

(A) Aspergillus (B) Penicillium (C) Claviceps (D) Saccharomyces
i 91 Th Teheh 31 e & 2

(A) wRiem  (B) uffaferm  (C) wifeiwm (D) demmEd

Meiosis takes place in

(A) Conidia (B) Gemmule (C) Megaspore (D) Meiocyte
FUGAT BET BIAT B 7

(A) ®Hifer  (B) Hpors (C) TesfiSmy (D) STefRg <hifme
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8. “Turbellarians are free living
Trematodes (B Flat worms (C) Cestodes (D) Nematodes

(A) w-sza (B) TRIFH (C) FERE (D) TG
9. A poisonous lizard is

(A) Varanus (B) Chamaeleon (C) Ancistrodon (D) Heloderma

ferdieft fesuehedt 2

(A) ST (B) *fufdtsm  (C) wRede (D) EereAl

10. Gill cover is absent in

(A) Salmon (B) Labeo (C) Shark (D) All of these
JTERT JTITE BT §
(A) HTeEA (B) ifsam (C) Imh (D) =g ueft
11.  Which of the following is an egg-laying mammal ?
A) Whale Platypus (C) Penguin (D) Kangaroo
U VIR i L A |
(A) =& (B) ﬁﬁw <C) T (D) s

12. Haemocoel is found in
(A) Echinoderms(B) Sponges (C) Arthropods (D) Annelids
THIET UTS SATell &
(A) ThEAEHE (B) W H (C) smyifdigad (D) wiergw
13. Polyp h(ilse is abseirllgt)mA " (©) Physali (D) Obeli
r urelia salia elia
ST T ST e

(A) @mEgl (B) ARferm (C) wrEferm (D) 3neferan

14. A waxy substance secreted by honey bee to repair combs is called

(A) Propolis (B) Honey dew ém) Nectar (D) Sporopollenin
Tl <h! T b foTQ AEHeRE! g S eref %1 el 1T § |
(A) ydif®  (B) &gy (C) ax (D) WA

15. Tube feet are locomoto% rgans of
(A) Splder (B) eptlle (C) Starfish (D) Cat fish

2 Whic (et uTe) ferweh afaetes 3 & ?
(A) THEH (B) Tlgdi®s  (C) dmHSe % (D) e fhorsh
16. Which of the following shows polymorphism ?
%t’ Physalia (B) anosoma (C) Termite (D) All of these
q ag*&qm?:ﬂ‘rm
(A) wEAfeE  (B) REm  (C) e (D) IEaH

17. In which phylum, the bo Cy is segmented
(A) Porifera oelenterata (C) Annelida (D) Mollusca

HH YT H, W(W)ﬁ'@%ﬂﬁ%"
(A) qﬁfrﬁm (B) faei=tan (C) wiferen (D) HIeTEeh
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18.

19.

20.

21.

22.

23.

24.

25.

26.

Which of the following is an oviparous mammal ?

(A) Balaenoptera (B) Delphinus
(C) _Pteropus (D) Ornithorhynchus
1 T 9 M 91 Teh IS W4T & 2

(A) sfemen (B) Soh® (C) wa (D) IHerwa

Which of the following is a flightless bird ?
(A) Columba (B) Neophron (C) Struthio (D) Corvus

= 99 F 91 Tk SEEEN et B 2
(A) HIeT (B) rImhHE (C) wgfasi (D) HEH

Replum is present in the ovary of flower of

(A) Mustard (B) Lemon (C) Pea (D) Sunflower
fopE qoa o STETe ¥ Yoo HiE BT @ 2

(A) w&iH  (B) HqH (C) wH (D) T %
Periderm is formed by

(A) Phellem (B) Phelloderm (C) Phellogen (D) “All of'these
ufted ffifa giar &

(A) e g (B) Wi g (C) SHanEFal (D) wafisgm

Epiblema is characterstic of

(A) Monocot roots (B)/Bicotistems
(C) Dicot roots (D), Menocot Stems
fopereh! TT&TfUTeRdT & ?

(A) TS (B) fesfisfia  (©) Feefsiise (D) websfisfi o

Jute fibres are obtained from

(A) Xylem (B) Endoderms
(C).gPith 1 (D) Secondary Phloem
S A {7 T S 7

(A) TR (B) Ia=md  (C) Hiud (D) fefaraeh @
Mast cells secrete

(A) Heparin (B) Myoglobin (C) Histamine (D) Haemoglobin
HTEE ShITIThTE &1

(A) B (B) WHEmAllsH (C) fewwmgd (D) Ewrcifed
Compound eyes are found in

(A) Cockroach (B) Roundworm (C) Earthworm (D) Frog

R ERIDEC IR

(A) Tde=sd  (B) ToHHH  (C) HIUH (D) HehH
Which of the following is the simplest amino acid ?

g\A) Tyrosine (B)  Glycine (C) Asparagine (D) Alanine
= o © 19 91 SeldH AR ?

(A) TEUEHR  (B) TEREEH (C) TEIRSH (D) TeHN
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27,

28.

29.

30.

31.

32.

33.

34.

Code No. :

Quantasomes are present in

(A)_Stroma ﬁg?% Grana (C) Mitochondria(D) Golgi body
FTETET 3 ”.E Id ; . .
(A) difesmrd  (B) TATH (C) UrgIHIfugan H(D) TMefiehrd
A cell swells up when kept in
(A) Hypotonic solution (B) Hypertonic solution
(C) Isotonic solution (D) None of these
Teh IR oA STl &, ST I8 T 1T 3 .
(A) IFIuRTE ﬁﬁa:rﬁ (B) Fafauredt fererm o
(C) TRl foerm o (D) TH O HIs T&l
Cell theory is not applicable for
(A) Bacteria (B) Fungus (C) Algae (D) Virus
aﬁ%rm 7R T & .
(A) Sl (B) e W (C) @ (D) formmoyw
The enzyme that cuts DNA is
(A) DNA-lyase (B) DNA-ligase
(C) DN a$olymerase (D) Restriction Endonuclease
DNA I %redl &
(A) DNA-STETST (B) DNA-STET
(C) DNA-GmS (D) oM TeEeTs
A plant cell attains turgidity due to
(A) Electrolysis (B) Exosmosis (C) Endosmosis (D) Plasmolysis
T TTed TTH S 1 HR0T 2
(A) TOHREEEE (B) THEEATRE  (C) TS (D) WISHREd
The factor most important in regulating transpiration is
(A) Temperature (B) Light
(C) Wind (D) Relative Humidity
aredfiyed o e 1 3tfa Tewul HRe () &
(A) qEEH (B) bt (C) a1y (D) HTUE 5T
Boron in green plants assists in
(A) Activation of enzymes (B) Photosynthesis
©) Actmg as enzyme cofactor (D) Sugar Transport
B UTeHl § SR HERIAT il 8 . .
(A) TTT3H % \fshaa | (B) SehrerEelyul H
(C) TITgH o I4-5eeHh & q T (D) T FE H
Denitrification is carried out by
A) Pseudomonas (B) Nitrobacter (C) Nitrosomonas (D) Nitrococcus
%ﬂ@w ferereh I 21T & 2
(A) SgHAE  (B) ?@@éaa (C) ASZEMAE (D) TSgiehishd
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36.

37.

38.

39.

40.

41.

Kranz anatomy is observed in

(A) C,plants (B) Cjplants (C) C,plants (D) CAM plants
ol I -TeT ! STt 8

(A) C,ued® (B) C;WEwid# (C) C,Tewid (D) CAM wredi #

Which of the following is formed during photorespiration ?

(A) Phosphoglycolate (B) NADPH
(C) Oxaloacetate (D) Sugar
RISl Yo o e o o & feprent fmfor €rar @ 2
(A) SEHFAEhIAL (B) NADPH
(C) Iee-TEee (D) Sk

The essential element needed for water splitting in photosynthesis leading to
O, evolution is
(A) Molybdenum (B) Manganese
(C) Magnesium (D) Potassium

T S 3T9EH o 78 SAEEh aw St O, o & fonfia g g, &
(A) Hicfiees™  (B) HS (©) (D) diefRrem

The site of glycolysis is
(A) Cytoplasm

(C) Mitochondrial matrix
TATEhITCTTEd hi TTE B

(A) HREIATSH

drial inner membrane

37 Treet
Induction of flowering by lo fment is called
(A) Photoperiodism (B)
(C) Cryoscopy D) Vernalization

=T 19 TR G qSAYT BT ST ShEATelT &

(A) dftemiferdt  (B) s . [ (C) SRR (D) @R

Gibberellin was first.discovered from

(A) Roots of higher plants Wl ( B')c :{Aigaé
(©)  Tung] (D) Bacteria
fSresitefir <1 wom @IS i 71 off

(A) 3 TeHi 61 Sfei & (B) &
(C) ®hed D) mslﬂliilﬁ

Cholecystokinin in human being stimulates
(A) Gall bladder (B) Pancreas (C) Bile secretion(D) None of these
HlHd 'Ef °h|(’IIIH{~dI°hI<’4l"|"| dl‘ll\fld ehidl %

(A) Toamm (B) IR (C) Tt &= (D) T | ®Ig &I
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42,

43.

44,

45.

46.

47.

48.

49.

Among mammals, a significant role in the digestion of milk is played by
(A) Rennin (B) Invertase

(C) Amylase . (D) Intestinal bacteria

ST 5, g4 o T H Aol YiHeh 31T 3! STl &

(A) ¥Egm (B) $ESgW  (C) TARRNI G (D) 3= S g
“Glisson’s capsule” in human being is associated with

(A) Liver (B) Pancreas (C) Kidney (D) Lung

e | fore Shege defad 8

(A) JHaH (B) mEE (C) FFh Y (D) %% ¥

The alveoli of lungs in human being are lined by

(A) Simple epithelium (B) Squamous epithelium
(C) Cuboidal epithelium (D) Ciliated epithelium
A H BHET i HiUehT (Tealelt) SN Bl o

(A) WA IUHeA (B) THR ITHeT(C) TR ITharl(D) TeHft Iushet

Lymphoid tissue in humans is found in
(A) Thymus (B) Tonsils (C) Lymph nodes(D) All of these

AT Feeh TR A & ’
(A) orsmE (B) <if et (Trerdfeehn)
(C) <fep1 TS (D) Jg Tt
Erythropoeitin in human is secreted from
(A) Pituitary gland (B) Pancreas
(C) Adrenal gland (D) Kidney
T | SRS Hferd & 2

(A) TETM  (B) IT=TE (C) afygess ufy (D) Ik
Yellow colour of human urine is due to

(A) Uric Acid (B) Urea (C) Urochrome (D) Bilirubin
HTE T o et TT %1 R0 &

(A) I&HTES  (B) I (C) I (D) feforfem

Bidder’s canal is present in

(A) Kidney of rabbit (B) Kidney of frog
(C) Testis of frog (D) None of these
feret Shrer Sufeerd it B

(A) TTI & JFh § (B) & o gaeh N
(C) Heeh o gor & (D) 78 | 18 T&

Glenoid cavity in human is found in
(A) _Pelvic girdle (B) Pectoral girdle (C) Sternum (D) Humerous
¥ TeiH15S hfadl IS STt 8

(A) AT TEend (B) IF@A@AT  (C) IR (D) gt

Code No. : C-490/2018/Series-A 8



50.

S1.

52,

S3.

54.

55.

56.

57.

Arbor vitae is a part of

(A) Cerebrum (B) Cerebellum (C) Midbrain (D) Fore brain
eI foheeht foeT & 2

(A) yfeTsh  (B) 3AfEs® (C) "eH-Aieash (D) IW-HiETsh

Which of the following is not a hereditary disease ?

(A) Cretinism (B) Hemophilia
(C) Cystic fibrosis (D) Thalassemia
o ® 9 e =t S92

(A) STHAT (SIFTo) (B) rfercerem
(C) 9 qquarn (D) deteifir

Which hormone is modified amino acid ?
(A) Prostaglandin (B) Estrogen (C) Epinephrine (D) Progesterone

M 1 g Safd o a2

(A) Wercifed  (B) TESH (C) TffRA (D) SIETH
The fleshy edible part of an apple is

(A) Thalamus (B) Nucellus (C) Ovary (D) Endosperm
T TS 1 THS @I 91T 3

(A) IamE (B) =@« (C) IASTH (D) TRy

Animals giving birth to young ones are

(A) Oviparous (B) Ovoviviparous
(C) Viviparous (D) Both (B) and (C)
AT I T G ATt AT SHEATd &
(A) 3Ty (B) S-S
(C) ESfiossh (D) (B) @ (C)gMl
During microsporogenesis, meiosis occurs in
(A) Endothecium (B) Microspore mother cells
©) Mlcrospore tetrads Pollen grains

% QNH, aé@%féﬂmgﬁm
(A) (B) TSSO HTe] it
(C) ST =g (D) T

Heterotrophic fungi can live as

(A) Saprophytes (B) Symbionts (C) Parasites (D) All of these
Hihe Sfted S ! 2

(A) TSt (B) HEISH (C) uste (D) ug &t

A haploid plant produces male or female gametes by

(A) Binary fission (B) Mitosis (C) Meiosis (D) Amitosis
UTEY X 3T HTET JTH I L Hehdll &

(A) fgfomver  (B) Fhfawsm (C) edgEfifawsH (D) srpffavsH

9 Code No. : C-490/2018/Series-A



58.

59.

60.

61.

62.

63.

64.

65.

66.

The entry of pollen tube into the ovule through micropyle is called
(A) Porogamy (B) Mesogamy (C) Anisogamy (D) Chalazogamy
SfISTUSER & B TRHTA T TSATA § ST ShgetTdl

(A) HIAH (B) Tereit (C) Ul (D) SherTtidt

Which one of the following is not a male accessory gland ?

(A) Seminal vesicle (B) Ampulla
%‘C_g' Prostate ) (D) Bulbourethral gland
H % € T R HEEh U TR 8 2

(A) YR (B) ferep (C) uree (D) wruefr uf

Graafian follicles are found in
A) Ovaries of mammals B) Testes of mammals
C) Liver of mammals _ D) Ovary of frog
(A) T % STeer § (B) TR < oo 3§
(C) TuTil o 9% H (D) He® & FSHI A

Oral contraceptives are prescribed in females to check

(A) Ovulation (B) Fertilization (C) Implantation (Tlé) None of these
Terereh St  feru feri # wifgsh (3iter) it Fad hi e 2

(A) JFsfmim (B) = (C) 3R (D) T ¥ g &l

Gynaecomastia is a common feature seen in
EA% Turner’s syndrome EB% Down’s syndrome

C)_ Klinefelter’s syndrome D) None of these
! SN Fhg (TG ), HHI A& fe@Ts
(A) TR fqugm o . (B) o fugm |
(C) FerAhee fvgm # (D) T 8 %K T
Antibodies resemble with which of the following shapes ?
STl 1 TR e 8 | fortreh Tm&Y 8 2
(A) X B) Y ©€) Z D) O

If the base sequence of a codon in mRNA is 5" — AUG — 3', the sequence of
tRNA pairing with it must be

Ife m-RNA H Teh SIEH &6l YR 30t 5' — AUG — 3' &1, Al 35eh A1 & aret]
t-RNA i 2of} g =1fee
(A) 5-UAC-3'(B) 5-CAU-3 (C) 5-AUG-3" (D) 5-GUA-3
The coding segment of DNA is
(A) Exon ~ (B) Replicon (C) Intron (D) Muton
DNA &1 §fed @8 &
(A) T (B) e  (C) F=H (D) PEH
Initiating force of evolution is
A) Variation (B) Adaptation (C) Competition (D) Natural Selection
1 IR & o1
(A) uftads (fafdrman) (B) 3 %me
(C) wfeeqet (D) SThiceh ST

Code No. : C-490/2018/Series-A 10



67.

68.

69.

70.

71.

72.

73.

74.

Which one of the following is a living fossil ?

(A) Moss (B) Cycas (C) Spirogyra (D) Saccharomyces
= o 9 h1e a7 Siifarg srfen 8 2
(A) | (B) @=HE (C) TRAFTR (D) ShHrIEd

‘AIDS’ is due to
(A) Destruction of Killer — T cells (B) Destruction of Helper-T cells

(C) Lack of interferons (D) Autoimmunity

“TGH’ T B 7

(A) T — T-ehIST oI foHTa (B) T -T-3hISM ol ToaTeT
(C) $eThUH hi il (D) w@ufRe

Cryopreservation is done at temperature
o o e o
[ehd ATIHTT YL hTH TSR ﬁb_":ﬂ Sl % ?

(A) —20°C (B) —120°C (C) —196°C (D) —273°C
Hybrid vigour is due to

(A) Homozygosity (B) Linkage
(C) Emasculation (D) Heterozygosity
Heht 31151 1 HRUT &

(A) THgESd  (B) HAWH (C) fogaa (D) ToraHgmSIan
In transgenics, expression of transgene in target tissue is determined by

(A) Enhancer (B) Promoter  (C) Reporter (D) None of these
IR B e Sk U qReie hi stfvreafts feifa < S 2

(A) TEREN  (B) WHXFW  (C) Fa&Egm (D) FHIABR T
An inverted pyramid of biomass can be found in which ecosystem ?

(A) Forest (B) Marine (C) Grassland (D) Tundra

T&fd T Teh 3ol . A T I ST Fehe & 2

(A) ST (B) W © T D) F
Ecotone is

(A) A polluted area

(B) Bottom of a lake

(C) A transition zone between two communities

D) A zone of developing communities

(A) T Tgd &= (B) e s1aw
(C) < HYcHEl < HeT GshHYT & (D) foerrasfiel Tl &1 9F

Which of the following is most stable ecosystem ?

(A) Mountain (B) Desert (C) Forest (D) Ocean
71 5 & %9 1 gaites T aifefash 7 8 2
(A) "= (B) weEId (C) ST (D) HETETR

11 Code No. : C-490/2018/Series-A



79,

76.

77.

78.

79,

80.

81.

82.

83.

84.

8s.

The active chemical drug reserpine is obtained from
(A) Datura B) Rauwolfia (C) Atropa (D) Papaver
afska TERIS ears Sitsl

(A) =gud (B) Tdlfe®wa & (C) TIETH (D) R H
What will be the molality of the solution containing 18.25 g. of HCI gas in
500 g of water ?

(A) 0.1m _ (B) 0.5m &C) I m (D) None of these
ST % 500 g § HC/ T8 <61 18.25 g aiTed ferefar <ht HieTeten =01 g 2.

(A) 0.1m (B) 0.5m (C) 1m (D) T8 9 HIS &l
The pair of ions having same electronic configuration is

T ol 1+eh T aTel 312 I 3

(A) Sc3t,Cr3t (B) Fe3t,Co3* (C) Fe3t,Mn2t (D) Cr3t, Fel3t
The wavelength of a radiation having frequency 1000 Hz is

1000 Hz mﬁwﬁmaﬁrwﬁ%ﬁ%

(A) 3x107cm (B) 300nm (C) 3000 A (D) 3x1013cm
The element with atomic number 57 belongs to

(A) s-block (B) p-block (C) d-block (D) f-block

57 URETY] TREAT ST e e @

(A) s—sdiss  (B) p-dih (C) d-=Ai% (D) f- ik
Which of the following elements have lowest ionization enthalpy ?

71 % 9§ fopg awa <hl STTRT U] weE e g 2

(A) Mg (B) Ca (C) Ba (D) Sr

In which of the following substances will hydrogen bond be strongest ?

e o & T vered # BISgioM 9 Tew 31ereh Heted & ?

(A) HCI (B) H,O (C) HI (D) H,S
Which of the following has pyramidal structure ?

Foret 8 el st 2 2

(A) NH;j (B) BF; (©) CCl (D) H,O

Mass of 112 cm3 of NH3 gas at S.T.P. is

S.T.P. W NH; 18 % 112 cm? 1 5699 &

(A) 0.085¢g (B) 0.850¢g (C) 85¢g (D) 805¢

Which of the following is an amorphous solid ?

%2’ Graphite (B) Quartz glass (C) Chrome alum (D) Silicon carbide
I Th 32

(A) T®IEE (B) WA HE (C) wATHE (D) Fufcreria wmeize

The co-ordination number of sodium in Na,O is

Na,O # Hifeaw hi g9 9& &

(A) 6 (B) 4 € 8 (D) 2
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86.

87.

88.

89.

90.

91.

92.

93.

94.

When water is added to quick lime, the reaction is

(A) explosive (B) endothermic (C) exothermic (D) Photochemical
TSl S T[T H ST STl STl =, s STITsRaT it &

(A) faohiess  (B) wmmst  (C) enerd (D) RRI-TERHS

Which of the following is a Lewis base ?

T3 T & IF |1 U oAfod AR R 2

(A) AICl; (B) Ag (C) Al(OH)3 (D) NHj
During electrolysis, the reaction at anode is

(A) oxidation (B) reduction

(C) decomposition (D) None of these
S . G i AT e e 2

(A) SATFREr  (B) Aw=RH (C) ferereq (D) ¥ 9 his &l

Which of the following ions will cause hardness in water sample ?
11 T & I T 3T e APaeT H Al Sl BRI g ?

(A) Ca?* (B) Na' (©) cr (D) K*
Proton is likely to have high

(A) Hydration energy (B) Electron affinity

(C) Atomic size (D) Atomic mass

TR H HETSE €9 | Bl 8 o

(A) I EIESRH HAl (B) 3= SoieR ST

(C) 3= WU HThR (D) I THIY FFHH

Calcium carbide on hydrolysis forms

(A) ethane (B) methane (C) ethylene (D) acetylene
ST - 3TTEeH T chioadd hIeise R il &

(A) TH (B) # (©) Prefm (D) wEifee

Freon— 12 isused as a

(A) Refrigerant (B) Insecticide (C) Fungicide (D) Herbicide
I — 12

(A) wrefieh & R T (B) ehieAmeft & dR W

(C) e 3 IR (D) SIS & T

Which of the following elements does not show allotropy ?

(A) Nitrogen  (B) Bismuth (C) Antimony (D) Arsenic
= 3 & 9 =1 I Tererd TE gurtar g 2

(A) AATEISH (B) fom (C) T (D) S
In which of the following functional groups, isomerism is not possible ?
(A) Alcohols ~ (B) Aldehydes (C) Alkyl halides(D) Cyanides
=1 © 9§ Topg srisficl Tvg ®, AHTEear 999 18 & ?

(A) Tehlgi@  (B) WElgRe  (C) Uehd garse (D) AEAES
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95. The gas which is used for weldlng purposes is

o o B % 11T T T
(A) CHy (B) C,Hg¢ (©) CyHy (D) CH,
96. Which of the following gases is not a green house gas ?
(A) Carbon monoxide (B) O3
%l(_lq (D) Water vapours
59 B o ENA-Te e E & ?
(A) e HHIFETES (B) O,
(C) CHy (D) ST a9
97. Which kind of defects are introduced by doping ?
(A) Dislocation defects (B) Schottky defects
(C) Frenkel defects (D) Electronic defects
foh Tk % QI SIfT g el a8 2

(A) FerEgy (B) YehEMpn(@uiEccay (D) forgd g

98. Which of the following is an nﬁf ator 7
(A) Graphite  (B) Alu ium (€) Diamond (D) Silicon
H Y SIF | Teh )
(A) U ] (D) Tafereria
99. The half life period of a# Mitial concentration of the
reactant is doubled. The*
%:gﬁ 0.5 (D) zero
SR h gl
o1 g1 Y feal STt &
(A) 0.5 (D) A
100. In a reaction, catalyst chang ——
(A) Physwally . (B) Qualitatively
%@ Both (A) aﬁnd {B} {D) N@ne of thesey
(A) u"liaamacr
(©) ()7 (B)ﬁ#?f s do i T@%Eimqé’!

101. Which one of the following ligands forms a chelate ? _
%ﬂ; Acetate (B) Oxalate (C) Cyanide (D) Ammonia

T ¥ &9 91 forue ueh forete o1 fagior shan 2 2
(A) THIE (B) 3T (C) TATES (D) I
102. The TUPAC name of CHj CHzOCH(CHé%)z is
D

isopropoxyethane 2-methoxybutane
1-methyl-1-methoxyethane 2-Ethoxypropane

CH3CH20CH(CH3 ), %1 [UPAC 9T &
(A) AESHEET (B) 2 ﬁaﬁ-emﬁqé:r
(C) 1-uforet-1-fyenediuds (D) 2-Edaehotm
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103.

104.

105.

106.

107.

108.

Which of the following molecules is chiral in nature ?

(A) 2-Bromobutane (B) 1-Bromobutane
(C) _2-Bromopropane (D) 2-Bromopropan-2-ol
T B | 619 @ 319] B el et 2 2

(A) 2meRA  (B) 1sMeA  (C) 2-EMUH (D) 2-SHsH-2-31e

Which of the following compounds can be used as antifreeze in automobile
radiators ?

(A) Methyl alcohol (B) Glycol

(C) Nitrophenol (D) Ethyl alcohol

=1 3§ 9 % 91 A sTeiaTse US3e § U= -ThIsi o T I 3 & Hehdl & 2
(A) Bfe TeRlETe (B) TR

(C) TrEgIfteATet (D) uféret TesrETer

Which of the following polymers is prepared by condensation
polymerisation ?

(A) Teflon (B) Natural rubber(C) Styrene (D) Nylon-66
T Ui TIEeyH gRT e & | hi 91 diefio dam fomam S gkt 8 2

(A) TFAH (B) Wil W (C) wWIsH (D) AEAH-66

Which system of education was propounded by Mahatma Gandhi ?
(A) Teaching by activities (B) Teaching through music
(C) Teaching through meditation (D) All of these

i &1 Tregor somret wETenn et gy wiautfed s s off 2

(A) Terameramai gr fareror (B) @fia g fareqor

(C) T g fareon (D) I |l

Education of a child really begins

(A) once he takes birth

(B) Once he attains the age of 3

(C) Once he is admitted to post nursery schools
(D) Once he learns to speak

fepeft fargy <1 freror I § yE BT R -

(A) SHE 98 IFH A E |

(B) ﬁﬁﬁas3aﬁaﬁmwsﬁm%|

(C) S & 9 TE UvTq ! Tl H STl STl ¢ |
(D) S8 & o8 Sa dRaar® |

The concept of sanskritisation was first used by

(A) M.N. Srinivas (B) S. Radhakrishan
(C) Karve (Dz Kautilya
TSR] <h1 TSN hT ST T foreteh GRT Terarm T o 2
(A) .. e (B) TH. TLTHWH
(C) = (D) wifeex
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109. Parental indifferences to the child’s behaviour is called

(A) Identification (B) Aggression

(C) Withdrawal (D) Over protectlon

STcTeh o I8N () o UTd ATdT-TUaT shl IS bl o1 had & 2

(A) UEAH (B) 3T (C) JTER (D) Ag-Tu
110. The IQ score lies between 99-109 is considered as

(A) bright normal (B) border line

(C) mentally challenged (D) average

99-109 % H& [Q TR I T ST &
(A) I dSE (B) @M@ W (C) AW gaa (D) 3ited

111. Motivation cannot be

(A) used to predict behaviour (B) used to explain behaviour
Qn inferred from behaviour (D) observed directly

(A) =1 ITIN HIER ! qel TN | T8 fehat ST Fehall |
(B) b1 SUANT SEER bl AHLAT | &l TS ST Tl |
© Eﬁroqolguﬁa@md:@wnqlmaqml|

(D) o1 sy et &9 & &1 foharm ST Teha |

112. Which of the following methods is most suitable for learning disabled

children ?
(A) Brain storming (B) Remedial teaching
1(5‘(_3;' Behaviour guidance method (D) None of these

T ¥ A ot fafyr fesim srerent <1 et =g Te® 3T & 2
(A) sH &I (B) 3UERIHS e
(C) IR uTigyH fafy (D) T 9 =ig &l

113. In a projective test of personality, the stimulus must be
(A) Simple (B) Ambiguous (C) Complicated (D) Pictorial
El{)%b_ml % & Feav §, €U B =ntey

(A) & (B) 31eqE (C) wfew (D) wf=
114. The first Ph.D in education in India, was awarded by

(A) Punjab University (B) Madras University

(C) Bombay University (D) Calcutta University

Wi H f1&1 § s Ph.D SeM fekarm 1 o

(A) v Il g (B) wgr® el gra

(C) wiwl Haredl g (D) heTshal AT gR

115. Whlch one of the following tools will provide more valid information ?
?B% Observation

Interview
(glestlonnalre D) Self report
I G G 37T YTHTT0h SRR TS Shil ?
(A) WA (B) 3@dlBd  (C) TS (D) w@-feemm
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116.

117.

118.

119.

120.

121.

122,

The national policy on Education 1986 envisages education as

(A) investment (B) return

(C) national programme (D) social programme
TSt frea ifa, 1986 7 e =61 c@n 8

(A) FewsFarR= (B) Ufawet & TR W

(C) TER T o TR W (D) ETHTRI U™ & TR TR
A teacher in the class is

(A) adirector of the group (B) the President of the group
(C) aleader and guide of the group (D) All of these

feret sheT & U frereh B

(A) H9E 1 freereh (B) HHE 1 AT

(C) H¥g I T a1 ATiGEh (D) Ig @t

The teacher should

(A) help the students to get good marks

(B) keep distance with students

(C) teach and think that his/her job is over

(D) do whatever is needed to promote welfare of students

Teh 3187k w1 fe 1 9 o omeT =nfge ?

(A) I=D mmaﬁﬁ%mﬁaﬁfﬁﬁm

(B) feenfef=ia 32_'”

(C) fa@maen for 351 W U & W |

(D) TeremfeRIi o sheamor &t I=fd o fou STmavaes & ot S |

Wood’s despatch contains how many paragraphs ?

5w 3 fewia i ey T it 3 0

(A) 100 (B) 101 (C) 102 (D) 103

Educational supervision helps in

(A) diagnosis (B) remediation (C) encouraging (D) All of these
. W % Q o o

(A) Temd (B) 3T=RH (C) Wmsdd (D) Hafd

Micro-teaching is the

(A) training device (B) feedback device

(C) scaled down teaching (D) All of these

gen- e 8

(A) SISTeTOT IURTT (B) HIgseh 3T

(C) Tt i e (D) ¥g &+t

In which year, IGNOU was set up ?

IGNOU (37) ! 1o ford o g3 oft 2

(A) 1958 (B) 1953 (C) 1985 (D) 1986
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123. Who became the first disciple of Mahavira ?

(A) Jamini (B) Jamali (C) Manu (D) Yashodo
HETER < Yo farsy i &1 2
(A) ST (B) ST (C) #q (D) J=IteT

124. Who among the following thinkers believed in the ‘Vedanta Philosophy’ ?
(A) Mahatma Gandhi (B) Aurobindo Ghosh
(C) Vivekananda (D) Rabindranath Tagore

fr= | 9 19 9 fides “derd eoi | favem@ 9 2

(A) e et (B) IRfs< N (C) faasrg (D) Uergnar &R
125. Who wrote the book ‘School and Society” ?

(A) Emile Durkheim (B) John Dewey

(C) Robert Merton (D) Auguste Comte

Thel TS HHTEd’ ek fohu forglt 2

(A) 3AEAGEM (B) = Sdl (C) Tsewe (D) AL id

126. Who followed the Theraveda form of Buddhism ?
(A) Burmese (B) Chinese (C) Japanese (D) Sri Lankans
Sig g % ANATG L&Y h STTET ThiH Hid o ?
(A) sHigwEt  (B) i awE (C) St (D) HieTehT & T

127. Vijayalaya was a feudatory of the
(A) Satavahanas (B) Rashtrakutas (C) Pallavas (D) Guptas
TorsraTery fenereh! ST off 2
(A) dradrsd (B) g%k (C) Yeota (D) T

128. Alauddin Khalji captured the throne after securing fabulous wealth from
(A) Chanderi  (B) Gujarat (C) Devagiri (D) Chittor
ITATSHEH Getsll H hal 9 foreme gufd Sid e aret gTiae o ?

(A) =l (B) TSI (C) wafift (D) ferefte

129. The Mughal emperor, who drove away the Portugues from Hugli, the
premier port of Bengal, was

(A) Akbar (B) Shah Jahan (C) Jahangir (D) Aurangzeb

TE T IITEeh S gaTTiorali <l giTeht, SRTTeT b1 Y@ IoH, § TeeT AT

(A) s (B) WEstel  (C) SRR (D) IE
130. Who took over the administration in Bengal after Robert Clive ?

(A) Lord Wellesley (B) Lord Cornwallis

(C) Warren Hastings (D) Lord Amherst

T FeITEd b U ST o TRITEA i YR foham avret 2

(A) ©ideiell (B) wiehianie® (C) ard 3™ (D) wie e
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131.

132.

133.

134.

135.

136.

137.

138.

139.

Who was arrested in the Kanpur conspiracy case ?

(A) S.A.Dange (B) M.N. Roy
(C) Bhagat Singh (D) Ram Prasad Bismil
BTG g Rt H feoherehl ety g off 2

(A) TAT. M (B) WHW. U@ (C) WalHg (D) Ty fafere

The first meeting of Non-Aligned member countries was attended by how
many countries ?

foRa STl = (T ) e - FRuet e Tl oht s Hifen o Wi foram & ?

(A) 17 (B) 21 (C) 25 (D) 28

The second longest river in India that flows towards east is

(A) Mahanadi_ (B) Godavari (C) Ganga (D) Cauvery
e 1 el T et ), S T b 3 el &

(A) wEFE (B) Tererdt (C) T (D) e

Which of the following ranges acts as a natural barrier between India and
Tibet ?

) Jelep La (B) Kalimpong (C) Lipu Lekh
o 35 o €t 37 i o v o e
(A) Sietg-r
Gorakhnath in the

(A) Kachchh
(©) Kathlawar
R 6

(D) Baralacha La
o &9 H 1 L © ?

rﬁr@w }ﬁ?ﬂ:{

(A) F=B5H
(C) wrigamaTe

Which of the followmg rivers makes
(A) Sharavati (B) Narmada "(C) Tapti

(D) Mahi
= O 9 o Jr A S -yard sl 2 2

(A) I (B) e (C) et (D) @t

Sel f d.i

0 ke V8T8 %a%“ T (@) gMdbhrasid /(D) Odisha
HeTaTH Y hi cme STTdl

(A) (B) 3w (C) wWeWTg (D) 3ifesm
The largest producer of pertroleum in India is

(A) Gularat (B) Assam (C) Maharashtra (D) Tamil Nadu
IRA H UgieT ol Had 98T 3G @

(A) T (B) 3w (C) wemg (D) Tl

In India, high qualit ﬁ basmati rice is mainly grown in
(A) Dehradun Kashmir (C) Sundargarh (D) All of these
B

WA H, I TOTerdll STl STHHA =Teel Jeid: S
(A) T (B) R (C) HeuTe (D) &t
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140.

141.

142,

143.

144.

145.

Khetri in Junjhunu district of Rajasthan is an important producing centre of

(A) lead (B) Copper (C) Zinc _ (D) Aluminium
TS < g STt o1 wagt foheeh IcTe 1 7q@
(A) w (B) WM (C) = (D) LUSIEIERE

‘The Federal System with strong Centre’ has been borrowed by the Indian
constitution from
(A) USA (B) Canada (C) UK (D) France
T g0 ASTeg g ool Held Jored!” &t 78 & .
(A) 3WH.T. & (B) HAETH (C) I%. 3 (D) %EHA

Which of the following schedules of the Indian constitution lists the names

of states and specifies their territories ?

%r:)‘ First (B) Second (C) Third (D) Fourth
ﬁ%ﬁﬂmﬁaaﬁwaﬁﬁqmm@a@uﬁ%mﬁlﬁﬁwwﬁm

AT 8 2

(A) W ®) fedft (©) T (D) =4

Who of the following became Prime Minister of India without becoming a
Union Cabinet Minister ?

(A) Chaudhary Charan Singh (B) H.D. Deve Gowda
(C) Morarji Desai (D) LK. Gujral

1 T 8 I A hleme et s fomT Wi o g s 2
(A) el = g (B) TH.El. gate

(C) wrwsh @ (D) 3. . 7ot

In which house of the parliament, the presiding officer is not a member of
the house ?

(A) Vidhan Parishad (B) Vidhan Sabha

(C) Rajya Sabha (D) Lok Sabha

HEe % fehl Her # HiaTei SARrehl Te 1 Tee & & 2

(A) fagmuieg (B) fagmaw (C) Tswaw (D) I Tl

The Chief Justice of High Court is appointed by the

(A) President

(B) Governor

(C) Chief Justice of India

(D) President on the advice of Governor of the state concerned and the
Chief Justice of India.

I AT o g =rneftsn 6 e formes gra it St B 2

(A) Tgdfd

(B) TIUTA

(C) YT o & =Rt

(D) YT b G =ATATENST qAT TeTa TS o TSAUTSA hl Telrg W AT g
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146.

147.

148.

149.

150.

151.

152.

A Panchayat Samiti at block level is

(A) An advisory body (B) An administrative authority
(C) A consultant committee (D) A supervisory authority
AT TR TR I=Ed i

(A) T TeATgsil e (B) Ueh UNTTE T (ITTEehR)
(C) T T wfwfer (D) Teh iaiereh &l

Which committee was set up to review the concept of the poverty line ?
(A) Tendulkar committee (B) Lakdawala Committee

(C) Wanchoo Committee (D) Dutt Committee
Tt T Shl AU o GAIET0T 3 TeAQ forer |ififa o1 Ta= feham T o 2
(A) dgereht Fiufd (B) WThESTETAT AT

(C) T HfHfd (D) <a |fHfd

NABARD does not provide refinance to
(A) scheduled commercial banks

(B) regional rural banks

(C) export —import banks

(D) state land development banks

NABARD o 0:for wgH &1 &t @ 2 .
(A) wﬁaﬁg@%% (B) &g wrefior ok
(C) ImaTa-f=ia s (D) T gfyr foepme s

‘Global competitiveness Report’ 1s released by which of the following
organizations ?
World Trade Organisation
B) World Economic Forum
C) European Union

D) SAARC

‘ Fifeiaa fard’ s = gxen gro S i S 2 2

(A) forea =amaw HTSHA (B) Tarea smfefes m=
(C) FUTH g (D) @& (SAARC)

Central seed Testinéand Referral Laboratory is located in

(A) Bhopal ) Varanasi (C) Dehradun (D) Lucknow
%Eﬁwqﬁwww HEl AT 8 ?
(A) 9T (B) STTOTET (C) <&Ued (D) @IS

Which of the following countries borders with the Mediterranean sea ?

%ﬁ:)' Algeria (B)  Tunisia é?—% Morocco (D) All of these
ﬁﬁ%ﬁaém‘qﬁmmﬁ—nww@ W2

(A) sl (B) ARRm  (C) HilEH! (D) &
Which is the largest fresh water lake in the world ?

A) Lake Tanganyika B) Lake Superior
C) Lake Baikal D) Lake Michigan
61 o 9 aret ar B et e H R 2

(A) dmfrmrsier (B) glifersfa (C) Sz (D) fufem sha
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153.

154.

155.

156.

157.

158.

159.

The seasonal reversal of winds is the typical characterstic of

(A) Equatorial Climate (B) Mediterranean Climate
(C) Monsoon Climate (D) None of these
FA13T BT AT Icshru fehereht ferfire @aqor 2 2
(A) ToIgad ey (B) HEIHIRR Sy
(C) HFET Sfietery (D) T 9 I3 &
Nights and days in equatorial region are
(A) Equal (B) Unequal

C) Lessin length (D) None of these

&= 8 fed qun U 8

(A) §HE (B) IEHH
(C) A oS (D) 7 S Tl

A man said to a woman “The only son of your brother, is the brother of my
wife.” How is that woman related to the wife of that man ?

(A) Aunt (B) Sister (C) Mother (D) Grand mother
Ueh J% A Ush AIECl 8 eI, “3AT9eh WS ol THAT 33, 7 Todl hl WIS 8" | 518
HigeT 38 g9 6l el & fohe TR Faifera & 2

(A) == (B) W& (C) = () =

Pratap starts from school and walks 7 km towards east. He takes a left and
walks 4 km, then takes a right and walks 2 km, ‘again takes a right and walks
3 km. Which direction is he facing now?

(A) North (B) South (g%_( West (D) East

TATT o 379 TheT | IEITA L3 7 km = | 58 ST ST g

4 km <ol | o2 grif 3egest 2 km,ﬁma?ﬂ IR GEHL 3 km =T | 37T 35T

g fore feRm 3 2 2

(A) T ®B) gl (C) = (D)
India’s+first national sports university will come up in which state ?

(A) “ Sikkim (B) Manipur (C) Maharashtra (D) Tamil Nadu
T o), T TSI TR Eg‘%m%ﬁ TS o & aTett & ?

(A) Tafasn (B) HfUTgR (C) HEWIg (D) dftrerTg

}N}ilo gas been recently appointed is the chairman of the Press Council of
ndia

gA; C.K. Prasad ng R. Banumathl
C) Madan Lokur

Kurien Jose
e o e e (P B e e R
(A) % 7@E (B) I AN (C) A @R (D) HEH T
Which country hosted the 2018 Global Malaria Summit ?

nllted ngdom ng [éSA

a crman
gwuéﬁ?ﬂaﬁz 2018’ <h Boel frg e I < y

(A) FEesfwTEn (B) I.UH.T. (C) st (D) <t
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160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

Who has won the best actor award at the 2018 Dadasaheb Phalke Awards ?
(A) Shah Rukh Khan (B) Salman Khan

(C) Amitabh Bachchan (D) Akshay Kumar

1Y TFel o ToTU ereT A1ed Hieteh-2018 Tars foha Sfar 2

(A) IEEE@ @ (B) ToMH@H (C) 3@ s=H (D) & $HAR

Which of the following festivals of H.P. is famous as ‘Dholru’ in Chamba ?

(A) Chaitraul (B) Navratri (C) Chaitti (D) Ralli
7 o O feamaer e <1 69 |1 SER I« | ‘aiers’ 8 g 2 ?
(A) = (B) T (C) ==t (D) et

Himachal Pradesh was under the administration of chief commissioner uptill
e h TEHTaeT Te¥T J&F T o ST o q&d o7 ?

(A) 1948 (B) 1951 (C) 1956 (D) 1963

Which of the following projects is undertaken by NTPC ?

(A) BairaSiul (B) Chamera (C) Koldam dam (D) Parbati

NTPC g S & UiEisHT g% i T 2 2

(A) sufga  (B) =m (C) ®iceAed (D) el
The hot spring of Tatapani is situated in which districts of H.P. ?
(A) Mandi (B) Kullu (C) Shimla (D) Chamba
femmeret wew o ferar foret & o T art <61 =remT srafeud B 2

(A) Tt (B) Pl (C) Fomrer (D) =T
He was honourably acquitted the charge.

(A) from (B) of (C) off (D) for
Meaning of the idiom “Tied to the apron strings of” is

(A) be independent (B) to be dominated by

(C) to live together (D) to fall in love with

Antonym of the word ‘Refinement’ is
(A) Spotless (B) Courage (C) Vulgarity (D) Poverty

TIT<Ieh IIeC &

(A) = (B) wHed (C) = (D) =1
Rrar 1 g o § Hiek 3

(A) Ty (B) wH (C) & (D) EHIGH
orfrd & T 2

(A) sFRfiwE  (B) o ©) % (D) wEshife
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KEY SET  C-490{TGT-MEDICAL (POST CODE-633)} SERIES-A

= aufd 7 smemlt SR WS (Provisional Answer Key) 1% 08.07.2018 &1 syaifsra TGT-
MEDICAL, POST CODE-633 # g wen 9§ wafa & | af2 aaitial #) s FHoll & Hed |
@ wafy 81, @ 3 ffea wwSt (Documentary proof) & W o @wiem #§ vad s
official e-mail id: sssb-hp@nic.in w® Hw+ smafr wfta $ Goa 2| sl 26t s &
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1 B 35 C 69 c 103 A 137 A

2 B 36 A 70 D 104 B 138 A

3 C 37 B 71 C 105 D 139 A

4 D 38 A 72 B 106 D 140 B

5 A 39 D 73 C 107 A 141 B

6 D 40 € 74 D 108 A 142 A

7 D 41 A B B 109 C 143 B

8 B 42 A 110 D 144 C

9 D 43 A D 145 D

10 C 44 B C 146 B

1 B 45 B 147 A

12 C 46 C 148 C

13 B 47 A 149 B

14 A 48 C 150 B

15 C 49 117 o 151 D

16 D 50 D 152 B

17 C 51 A 153 C

18 D 52 120 D 154 A

19 C 121, c 155 A

20 A 27 T 156 B

21 i BT LI 157 B

22 A 56 aPs a®tlt iy el C 158 A

23 D 57 TR T s 4 125 B 159 A

24 A 58 A 92 A 126 A 160 D

25 A 59 B 93 A 127 C 161 C

26 B 60 A 94 C 128 C 162 B

27 B 61 A 95 D 129 B 163 C

28 A 62 C 96 A 130 C 164 A

29 D 63 B 97 D 131 A 165 B

30 D 64 B 98 C 132 C 166 B

31 C 65 A 99 B 133 B 167 C

32 B 66 A 100 C 134 B 168 B

33 D 67 B 101 B 135 C 169 D

34 A 68 B 102 D 136 A 170 B
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